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Educrat 1S is a Kolkata based coaching centre for preparation of LAS/IPS &
WBCS Examination. We provide extensive and holistic preparation to a small
batch of sincere & dedicated aspirants who aspire & dream to become a part of the
coveted Civil Services. The three mantras we follow in our dynamic &l unique

preparatory process are guidance as per the demand of the syllabus, practice of past
year questions and referring specific & limited resources which are best. Our smart
study techniques focus on multiple revision of the same resource, inter-linking of
various concepts, discussion of contemporary issues through fortnightly newspaper
reading classes, weeRly and monthly mock tests etc. Personalised mentorship
gquidance by Civil Service toppers themselves as per the changing trend & nature of

the exam pattern makes us different from the rest of the LAS coaching institutes in
Kolkata.
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2000

1. Laterite soils are tormed due to:-
(A) Removal of silicates,lime and organic matter
(B) Decaying of organic matter

(C) Disintegration of lava
(D) Extoliation

2001

1. The erosion of soil by wind can be best controlled
by:-

(A) Afforestation

(B) Removal of vegetation

(C) Dry Farming

(D) Creation of wind breaks

2. In India the places where gold, copper, 1iron ore and
coal are found 1n order:-

(A) Noamundi, Khetr1 ,Jhariya and Kolar

(B) Kolar,Khetri,Noamundi and jharia

(C) Jharia, Noamundi,Kolar and Khetri

(D) Kolar,Noamundi,Jharia and Khetri

3. Electric locomotives are manufactured 1n:-
(A) Varanasi

(B) Bhopal
(C) Chaittaranjan
(D) Kolkata

4. Which industry provides maximum employment?
(A) Iron and steel
(B) Cotton textile
(C) Jhute

(D) Food processing

S. The leading copper producer 1s:-
(A) Bihar
(B) Rajasthan
(C) Andhra Pradesh
(D) Orissa

6. The state with the maximum length of roadways 1s:-
(A) Tamil Nadu
(B) Uttar Pradesh
(C) Karnataka
(D) Maharashtra

7. NH-6 connects:-
(A) Kolkata with Mumbai
(B) Delh1 with Amritsar
(C) Kolkata with New Jalpaiguri
(D) Delh1 with Bhopal

2002

1. What type of river 1s the Indus?
(A) Consequent
(B) Subsequent
(C) Antecedent
(D) Obsequent

2. EI-N1no 1s type of:-
(A) Cyclone
(B) Warm ocean current
(C) Westerly depression
(D) Global wind

3. Which one of the following 1s the largest irrigation
project of India?

(A) Damodar valley project

(B) Bhakra-Nangal project

(C) Nagarjuna Sagar project

(D) Rihand project

4. Potential tor development of tidal energy 1n India 1s
largest in:-

(A) Gulf of Cambay

(B) Gulf of munnar

(C) Chilika lake

(D) Pullicat lake

2003

1. Andaman and nicobar 1slands separated by:-
(A) 10degree channel
(B) Duncan strait
(C) Coco channel
(D) Car Nicobar

2. The Durand line determines the border between:-
(A) India and China
(B) India and Afghanistan
(C) India and Bhutan
(D) India and Tibet

3. The dispute relating to the sharing ot the water ot
Cauver1 river concerns:-

(A) Andhra pradesh and Kerala

(B) Karnataka and Kerala

(C) Tamilnadu and Karnataka

(D) Andhra pradesh and Tamil Nadu
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4. The nver Narmada rises in the Amarkantak plateaus 12. Jodhpur and jaisalmer 1deal places tor the
of :- development of:-

(A) Mahadeo hills (A) Tidal energy

(B) Maikal hills (B) Wind energy

(C) Nilgir1 halls (C) Hydro Electricity

(D) Palni hills (D) Solar energy
5. Godavari, the largest river of peninsular India has a 13. Which of the tollowing industrial town 1s known as
total length of:- 'Ruhr of India'?

(A) 1465 kms (A) Asansol

(B) 1300 kms (B) Durgapur

(C) 1290 kms (C) Burnpur

(D) 1000 kms (D) Rourkela
0. Which one of the following 1s a west-tflowing river? 2004

(A) Mahanadi _

(B) Narmada 1. On which river is Kota located?

(C) Godavari ( A) Son

(D) Krishna (B) Yamuna

(C) Chambal

7. The world's highest gravity dam 1s:- (D) Luni

(A) Hirakud

(B) Bhakra 2. Which of the following states grows sugarcane as a

(C) Mettur major crop?

(D) Maithun (A) Bihar

(B) Rajasthan

8. Which one of those following 1s an inland river? (C) Uttar Pradesh

(A) Pennar (D) Punjab

(B) Luni

(C) Narmada 3. Monazite is found in the coastal sands of’:-

(D) Yamuna (A) Malabar coast
(B) Ratnagiri coast

9. Which ot the following area 1s famous for pearl (C) Coromandal coast

fishing? (D) Chandipur coast
(A) Tuticorin
(B) Khandala 4. What is the highest place of West Bengal?
(C) Puducherry (A) Tiger hill
(D) Delhi (B) Tonglu
(C) Sandakfu
10. Which one ot the following 1s correct? (D) Sokhia Pokhari
(A) A Mineral cannot be a ore
(B) An ore cannot be a mineral 2005

(C) All ores are minerals

(D) All minerals are ores 1. Chitrkut Chachai and Kenton waterfalls are located

11. Nepanagar produces:- o (A) MP
(A) Copper (B) AP
(B) Milk (C) UP
(C) News print (D) WB

(D) Contact lens
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3. Oldest o1l field of India 1s:-

2. Gautami and Vashishtha are the principal (A) Moran
distributaries of:- (B) Bombay High
(A) Godavari (C) Digboi
(B) Kaveri (D) Ankleshwar
(C) Krishna
(D) Mahanadi 4. Which 1s the first nuclear station of India”?
(A) Tarapur
3. Indus, Tsangpo, Arup and Sutlej are typical (B) Trombay
examples of:- (C) Kalpakkam
(A) Antecedent drainage (D) Narora
(B) Consequent drainage
(C) Subsequent drainage 5. Golden quadrilateral 1s a:-
(D) Superimposed drainage (A) National Highway project
(B) National Highway development project
4. The forest group covering most of India 1s:- (C) Railway development project
(A) Tropical moist deciduous (D) Gold auction centre
(B) Tropical wet evergreen
(C) Tropical dry deciduous 6. In West Bengal export processing zone has started
(D) Subtropical dry evergreen functioning at:-
(A) Raichak
5. In which year was the railway board founded (B) Haldia
(A) 1905 (C) Falta
(B) 1919 (D) Kakdwip
(C) 1935
(D) 1947 7. Salt Lake has become a centre of:-
(A) Computer software industry
6. West Bengal lies 1n between:- (B) IT industry
(A) 85 degrees 30 minutes East to 89 degree 15 (C) Electronic industry
minutes East (D) Engineering industry
(B) 85 degree 30 minutes East to 90 degree east
(C) 85 degree east to 89 degree 30 minutes East 2007

(D) 85 degree east to 90 degrees

1. The PalGhat gap service communication inland from

7. Of the Indian states West Bengal has the longest this port to Madras:-
boundary with:- (A) Goa
(A) Jharkhand (B) Mangalore
(B) Bihar (C) Mumbai
(C) Odisha (D) Cochin
(D) Assam
2. The fertile Bar1 doab lies between:-
2006 (A) The Beas and Ravi rivers
(B) The Beas and the Sutlej rivers
1. On which river 1s the Nagarjuna Sagar project (C) The Beas and the Chenab rivers
located? (D) None of the above
(A) Mahi river in Wanakburi
(B) Tapi river in Gujarat 3. Rain 1n cold weather season 1s due to:-
(C) Krishna river in Karnataka (A) Norwesters
(D) Krishna river in Andhra Pradesh (B) Western disturbance
(C) Cold waves
2. Laterite soil 1s found 1n:- (D) Arabian sea depression
(A) Bihar plain region

(B) West Bengal
(C) Tamil Nadu coastal region
(D) North Western Ghats
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4. The most salient teature of raintall pattern in India 3. The Aravali represent ancient:-
1S:- (A) Fold mountain

(A) Its deficiency (B) Horst

(B) Seasonability (C) Volcano

(C) Spatiality (D) Block mountain

(D) Copiousness

4. India's dispute over sharing of water with

5. Khaddar 1s not a:- Bangladesh arises out of distribution of water from:-

(A) Calcareous (A) Maithon dam

(B) Younger (B) Farakka barrage

(C) Flooded (C) Durgapur barrage

(D) Dark Coloured (D) BrahmaPutra river
6. Consumption of chemical fertilizers 1s the highest 5. Sharavathi hydroelectric project 1s located 1n:-
1n:- (A) Tamil Nadu

(A) Punjab (B) Karnataka

(B) Andhra Pradesh (C) Orissa

(C) Assam (D) Andhra Pradesh

(D) Gujarat

6. The river Narmada tlows through a:-

7. Hydel power potential is the highest in case of':- (A) Post glacial valley

(A) Brahmaputra basin (B) V shaped fluvial valley

(B) Ganga basin (C) Fault trough rift valley

(C) East tlowing rivers of South India (D) Deltaic area

(D) West tlowing rivers of South India
7. Cotton 1n India grows best on:-

8. 1S not a nuclear power plant. (A) Laterite soil
(A) Narora (B) Alluvial soil
(B) Kakrapar (C) Black soil
(C) Chamera (D) Tera1 Soil
(D) Kota
8. Noonmat1 1s known for the location of a:-
9. 1s also called sunrise industry. (A) Public sector o1l refinery
(A) Copper (B) Private sector coal field
(B) Plastic (C) Private sector o1l refinery
(C) Automobile (D) Public sector coal field
(D) Jewellery
9. Lignite 1s a type of:-
2008 (A) Iron ore
o (B) Copper
1. Sand dunes form a major topographic feature of:- (C) Coal
(A) Eastern Rajasthan (D) Limestone
(B) Western Rajasthan o | _
(C) Punjab 10. In West B_engal silk 1industries are found 1n:-
(D) Gujarat (A) Purulia

(B) Cooch Behar

2. The Himalayas were uplifted from the:- (C) Murshidabad
(A) Indian ocean (D) Hoogly
(B) Hercynian geosyncline
(C) Tethys geosyncline
(D) None of the above
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2009

1. Chhota Nagpur plateau 1s made up of:-
(A) Old 1gneous and metamorphic rocks
(B) Sedimentary rocks
(C) Alluvium
(D) Lava tlows

2. Himalayas are:-
(A) Young fold mountains
(B) Residual mountains
(C) Volcanic mountains
(D) Block mountains

3. Which ot the following statements 1s not correct?
(A) Deccan plateau slopes towards the west
(B) Height of Western Ghats increases from north
to south
(C) Western Ghats are higher than Western Ghats
(D) The North Western part of the Deccan plateau
1s made up of Lava flows

4. Coastline of which of the tollowing states 1s known
as the Coromandel coast?

(A) Karnataka

(B) Kerala

(C) Orissa

(D) Tamil Nadu

5. Largest delta 1n the world 1s:-
(A) Ganga delta
(B) Mississippi delta
(C) Irrawady delta
(D) Godavari delta

6. Which of the following rivers does not drain into the
Arabian sea’

(A) Mahanadi

(B) Narmada

(C) Tap1

(D) Sharavathi

7. When do the Southwest monsoon winds blow 1n
India?

(A) January to February

(B) March to mid June

(C) Mid June to September

(D) October to December

8. Most 1deal region for the cultivation of cotton in
India 1s:-

(A) The Brahmaputra valley

(B) Indo gangetic plain

(C) Deccan trap region

(D) Rann of Kutch

9. Which of the following raw materials used in large
quantity in India for the manufacturing of paper?

(A) Sala1 wood

(B) Sabai grass

(C) Cotton rags

(D) Bamboo

10. Which ot the tollowing parts of India grows nearly
three fourth of the total quantity of tea?

(A) Northern India

(B) South India

(C) North East India

(D) North West India

1 1. Which ot the following pair 1s incorrect?
(A) Maharashtra- Paradip
(B) Tamil Nadu- Mangalore
(C) Gujarat-Kandla
(D) Karnataka-Tuticorin

12. The artificial harbour along the West coast of India
1S:-

(A) Cochin

(B) Kandla

(C) Marmagao

(D) New Mangalore

13. Barakar 1s a major tributary of:-
(A) Mahanadi
(B) Ganga
(C) Damodar
(D) Ajay

2010

1. The Himalayas are:-
(A) Fold mountains
(B) Block mountains
(C) Residual hills
(D) Table land

2. Sal 1s a type of:-
(A) Coniferous tree
(B) Deciduous tree
(C) Evergreen tree
(D) Xerophytic tree
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3. Bauxite extracted in Madhya Pradesh 1s used for the
production of:-

(A) Bronze

(B) Aluminium

(C) Copper

(D) Mica

4. The so1l of Bankura district 1s:-
(A) Podzolic
(B) Alluvial
(C) Laterite
(D) Silty

5. In West Bengal plantation agriculture 1s found 1n-
(A) Malda
(B) Darjeeling
(C) Bankura
(D) Howrah

2011
1. Which of the tollowing soils 1s tavourable for cotton
cultivation?

(A) Red soil

(B) Regur

(C) Alluwvial so1l

(D) Laterite

2. Sal 1s a type of:-
(A) Coniferous tree
(B) Evergreen tree
(C) Mangrove
(D) Deciduous tree

3. are the second major source of
irrigation in India.

(A) Wells and tubewells

(B) Canals

(C) Tanks

(D) Oceans

4. Which 1ron steel plant of India 1s known as 'Ruhr of
India'?

(A) Bhilai

(B) Durgapur

(C) Rourkela

(D) Jamshedpur

5. Which of the following hydroelectric power project
has the largest installed capacity tor generation ot
electricity?

(A) Sabari Gir1- Kerala

(B) Koyna- Maharashtra

(C) Bhakhra Nangal- Punjab

(D) Kundah- Tamil Nadu

6. Which Indian state 1s most industrially advanced?
(A) Maharashtra
(B) Gujarat
(C) Tamil Nadu
(D) Punjab

7. In the east of West Bengal lies:-
(A) Assam and Bangladesh
(B) Bihar and Jharkhand
(C) Sikkim and Bhutan
(D) Orissa and Jharkhand

8. In West Bengal the Himalayas foothill region is
known:-

(A) Tera1 and Duars

(B) Barind

(C) Diara

(D) Bagri

9. Haldia 1s a centre for:-
(A) Petrochemical industries
(B) Deep sea fishing
(C) Iron and steel industries
(D) Engineering industries

10. Chitranjan in West Bengal 1s well known for its:-
(A) Fertilizer plant
(B) Iron and steel plant
(C) Locomotive works
(D) Cement tactory

1 1. People of the Sundarbans derive livelihood from:-
(A) Rain - fed monocropping
(B) Tourism
(C) Fishing
(D) Construction of barrages and embankments

12. Rainfall in West Bengal occurs due to summer
monsoon by:-

(A) Arabian sea current

(B) Bay of Bengal current

(C) Retreating monsoon

(D) Western disturbances

13. The most 1deal region for the cultivation of tea in
West Bengal 1s:-

(A) Malda

(B) Jalpaiguri

(C) Darjeeling

(D) Cooch Behar
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2012

1. The pir panjal range 1s located 1n the:-
(A) Greater Himalayas
(B) Trans Himalayas
(C) Lesser Himalayas
(D) Shivaliks

2. Monsoon rainfall over India:-
(A) Increases cyclones over bay of Bengal
(B) Decreases monsoon raintall over India
(C) Increases El Nino 1n the Pacific
(D) Decreases cyclones over bay of Bengal

3. Laterite so1l of India:-
(A) Rich 1n 1ron
(B) Rich 1n humus
(C) Rich 1n basaltic Lava
(D) Rich 1n Uranium

4. The black soils of Maharashtra are called:-
(A) Regolith
(B) Khadar
(C) Regur
(D) Bhabar

5. Neem 1s a:-
(A) Tropical wet evergreen tree
(B) Tropical moist deciduous
(C) Tropical dry deciduous
(D) Tropical dry evergreen

2013

I1. Loktak lake 1s found 1n the state of:-
(A) Jammu and Kashmir
(B) Himachal Pradesh
(C) Arunachal Pradesh
(D) Manipur

2. Which niver tlows through the valley of Kashmir?

(A) Sutle;
(B) Ravi
(C) Chenab
(D) Jhelum

3. The source of the Narmada river lies 1n:-
(A) Amarkantak plateau
(B) Vindhya range
(C) Maikal range
(D) Palni hills

4. The principal controlling factor of the Indian
monsoon 1S the:-
(A) Jet stream
(B) Temperature
(C) Presence of the Himalayan mountains
(D) Lower air circulation

. In April thunder squalls are very frequent 1n:
(A) Assam
(B) West Bengal
(C) Bihar
(D) Rajasthan

6. Jute 1s mainly grown 1in:-
(A) Tamil Nadu
(B) Kerala
(C) West Bengal
(D) Himachal Pradesh

7. Cotton production 1s highest in the state of:-
(A) Maharashtra
(B) Gujarat
(C) Andhra Pradesh
(D) Punjab

8. Sugarcane production 1s highest in the state of:-

(A) Uttar Pradesh
(B) Tamil Nadu

(C) Andhra Pradesh
(D) Maharashtra

9. Gondwana beds are known for their:-
(A) Iron deposits
(B) Coal deposits
(C) Bauxite
(D) Petroleum

10. The first jute mill was set up 1n India in:-
(A) 1920
(B) 1855
(C) 1800
(D) 1755

1 1. Indian coal 1s mostly:-
(A) Anthracite
(B) Bituminous
(C) Lignite
(D) Peat

12. In India which state has the largest coal reserve?

(A) Orissa

(B) Jharkhand
(C) Chhattisgarh
(D) West Bengal
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13. In India which state produces the largest amount of . Soil erosion 1s most alarming 1n which littoral state
coal? of India?
(A) Chhattisgarh (A) Kerala
(B) Jharkhand (B) Tamil Nadu
(C) Orissa (C) Odisha
(D) Andhra Pradesh (D) Karnataka
14. Which 1s the easternmost river of West Bengal? 6. The Rourkela Steel plant 1s located on the bank
(A) Torsa of river.
(B) Raidak (A) Bhadra
(C) Mechi (B) Brahmani
(D) Pagla (C) Damodar
(D) Bheema
15. West Bengal has a literacy rate of:-
(A) 70% /. Diamond mines of India located 1n:-
(B) 75% (A) Uttar Pradesh
(C) 76% (B) Karnataka
(D) 80% (C) Madhya Pradesh
(D) Gujarat
16. West Bengal accounts for. % ot population of
India. 8. The major concentration of India 1s mica production
(A) 6 comes from:-
(B) 7.55 (A) Bihar
(C) 38.24 (B) Chhattisgarh
(D) 9.12 (C) Jharkhand
(D) Orissa
2014
9. Bokaro Steel plant was established with help of:-
1. El Nino refers to:- (A) AII.]EI.‘iCEl
(A) An atmospheric phenomenon (B) Britain
(B) An Environmental phenomenon (O F ke
(C) An oceanic phenomenon (D) Soviet Union

(D) A Climatic phenomenon - | | o
10. Tuticorin, an important fishing harbour 1s situated

2. Copious rain 1n the Northern coast of Tamil Nadu in along coast.
October to November due to:- (A) Malabar
(A) The southeast trade winds (B) Coromandal
(B) Retreating monsoon (C) Konkan
(C) Westerly depression (D) Gulf of Kutch
(D) Occlusion
11. The location of iron and steel plants 1in India has
3. Forestation prevents:- been influenced by the availability of the following in
(A) Soil erosion order of importance.
(B) Pollution (A) Iron ore-coking coal-limestone-Manganese
(C) Food (B) Coking coal-iron ore-limestone-Manganese
(D) All of the above (C) Iron ore-manganese-limestone-coking coal

(D) Coking coal-manganese-iron ore-limestone

4. Where 18 the forest research institute of India

located? 12. The biggest ship building yard of India 1s:-
(A) Delhi (A) Garden Reach workshop, Kolkata
(B) Bhopal (B) Hindustan shipyard, Visakhapatnam
(C) Dehradun (C) Mazagaon dock ,Mumbai
(D) Lucknow (D) Cochin shipyard ,Kochi
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13. The major portion of the West Bengal plateau lies
in the district of:-

(A) Midnapore

(B) Murshidabad

(C) Purulia

(D) Burdwan

14. The plains of the foot of the Darjeeling Himalayas
are kKnown as:-

(A) Duars

(B) Terai

(C) Rarh

(D) Barind

15. The distance from the north to south of West
Bengal 1s:-

(A) 600 km

(B) 700 km

(C) 800 km

(D) 400 km

16. Damodar river rises from:-
(A) Rajmahal plateau
(B) Chota Nagpur plateau
(C) Himalayas
(D) Eastern Ghats

17. Which of the following 1s in the correct descending
order of the districts of West Bengal 1n terms of sex
ratio (2011)?

(A) Darjeeling-paschim Midnapore-Hooghly

(B) Hooghly-Darjeeling-Murshidabad

(C) Darjeeling-Hooghly-Murshidabad

(D) Hooghly-Murshidabad-Darjeeling

18. The soil of Sundarban ot West Bengal 1s:-
(A) Red soil
(B) Clayey saline soil
(C) Alluvial so1l
(D) Black soil

2013

1. The Indian peninsula 1s surrounded by water on:-
(A) South and East
(B) South and West
(C) Southwest, south and southeast
(D) East and West

2. Tamil Nadu 1s the only state with more than one
major port because:-
(A) The state has the longest coastline
(B) The depth of water 1s high
(C) The coast has well detined inlets and bays
(D) The cost 1s not very Rocky

3. If there was no atmosphere the Earth would have
been:-

(A) Slightly hot

(B) Slightly cold

(C) Very hot

(D) Very cold

4. In which layer of the atmosphere does ozone act as a
UV radiation shield?

(A) Troposphere

(B) Thermosphere

(C) Stratosphere

(D) Mesosphere

5. Theory of plate tectonics explains:-
(A) Formation of mountains
(B) Seatloor spreading
(C) Origin of earthquakes
(D) All of the above

6. One of the characteristics of the atmosphere ot
prebiotic primitive earth was:-

(A) Absence of hydrogen

(B) Absence of water vapour

(C) Absence of nitrogen

(D) Absence of oxygen

7. Cotton 1s best grown on black lava soil, called:-
(A) Regur
(B) Laterite soil
(C) Regolith
(D) RangaMati

8. Green revolution was confined to:-
(A) Rice in West Bengal
(B) Cotton 1n Maharashtra
(C) Wheat in Punjab and Haryana
(D) O1l seeds in Andhra Pradesh

9. Social forestry scheme promotes:-
(A) Planting of eucalyptus
(B) Planting of firewood yielding trees
(C) Selling of forest produce
(D) All of the above

10. Dry tarming 1s possible because of:-
(A) Utilisation of groundwater potential
(B) introduction of quick maturing and resistant
varieties of millets

(C) Improvement 1n technology
(D) All of the above
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1 1. Geographical concentration of industries
generates:-
(A) Horizontal linkage only
(B) Vertical linkage only
(C) Both horizontal and vertical linkage
(D) No linkage etfect

12. Coal, petroleum and natural gas are examples of:-
(A) Fossil fuel
(B) Cryogenic tuels
(C) Indigenous fuels
(D) Radioactive fuels

13. Petroleum refineries in India mostly have:-
(A) Oaltield locations
(B) Port locations

(C) Pipeline terminal locations
(D) All of the above

14. Capital of West Bengal 1s close to
(A) Equator
(B) Tropic of cancer
(C) Tropic ot Capricorn
(D) Arctic Circle

15. West Bengal gets most of its rainfall from:-
(A) Southwest monsoon
(B) Bay of Bengal branch of Indian monsoon
(C) Northeast monsoon
(D) Arabian sea branch of Indian monsoon

16. The most superior industrial coal in West Bengal
1S:-

(A) Lignite variety

(B) Bituminous variety

(C) Anthracite variety

(D) None of the above

2016

1. Which of the following 1s the junction point of the
Eastern Ghats and Western Ghats?

(A) Javadi hills

(B) Anamalai hills

(C) Nilgir1 hills

(D) Shevaroy hills

2. Which one of the following mountains has two
dissimilar types ot vegetation on its two slopes?
(A) Aravalis
(B) Vindhyas
(C) Eastern Ghats
(D) Western Ghats

3. Amarkantak hill 1s the source ot two rivers tlowing
into different directions (west and east) .They are:-
(A) Narmada and Tapi
(B) Narmada and Mahanadi
(C) Tap1 and Betwa
(D) Tap1 and Son

4. Which of the following rivers of India 1s older than
the Himalayas?

(A) Satlug

(B) Ganga

(C) Beas

(D) Ravi

5. Which among the following 1s responsible for
depletion of ozone layer?

(A) Carbon monoxide
(B) Carbon dioxide

(C) Chlorofluorocarbon
(D) Mercuric oxide

6. Tropopause 1s:-
(A) A region between troposphere and stratosphere
(B) Natural umbrella above volcanic eruptions
(C) Bothaand b
(D) Neither a nor b

7. Which one of the following states in India has
highest percentage of tank irrigation?

(A) Tamil Nadu

(B) West Bengal

(C) Kerala

(D) Karnataka

8. The greatest potential for the generation of tidal
power 1n India 1s available 1n the:-

(A) Malabar coast

(B) Konkan coast

(C) Gujarat coast

(D) Coromandal coast

9. The biggest ship building yard of India 1s:-
(A) Garden Reach workshop ,Kolkata
(B) Hindustan shipyard, Visakhapatnam
(C) Malagaon dock ,Mumbai
(D) Cochin shipyard, Kochi

10. Largest tobacco producer state of West Bengal 1s:-
(A) Murshidabad
(B) Malda
(C) Cooch Behar
(D) Birbhum
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1 1. The tropic of Cancer passes through which district
of West Bengal:-

(A) Murshidabad

(B) Nadia

(C) Malda

(D) Purulia

12. Which of the following types of climate does West
Bengal experiences?

(A) Tropical monsoon

(B) Semi anid

(C) Humid

(D) Sub Tropical dry

13. What 1s the length of international boundary with
Bangladesh by West Bengal in kms?

(A) 1617

(B) 2145

(C) 2272

(D) 3300

14. Highest peak of West Bengal belongs to which of
the tollowing mountain ranges?

(A) Darjeeling range

(B) Singalila range

(C) Jayanti hill

(D) None of the above

15. Singalila National park located in which of the
districts of West Bengal?

(A) Darjeeling

(B) Alipurdwar

(C) Cooch Behar

(D) Uttar Dinajpur

2017

1. The Western Ghats 1s an important mountain system
of the West coast of India. The word Ghat means:-

(A) Port

(B) Stair

(C) Thrust

(D) Gap or pass

2. Name of the capital of the newly formed state of
Andhra Pradesh 1s:-

(A) Amravati

(B) Secunderabad

(C) Hyderabad

(D) Visakhapatnam

3. Indian share of total land area 1n the world 1s about:-
(A) 2.4 %
(B) 2.8%
(C) 3.2 %
(D) 3.6 %

4. In terms of longitude the easternmost state of India
1S:-

(A) Mizoram

(B) Manipur

(C) Nagaland

(D) Arunachal Pradesh

5. Polavaram project 1s associated with the river:-
(A) Cauveri
(B) Penner
(C) Krishna
(D) Godavari

6. Which state of India experiences the maximum
annual variation of rainfall?

(A) Meghalaya

(B) Kerala

(C) Rajasthan

(D) West Bengal

7. In India the maximum area 1s covered by the:-
(A) Laterite soil
(B) Red soil
(C) Black soil
(D) Alluvial so1l

8. Which one of the tollowing crops witnessed the
maximum rate ot increase of production due to green
revolution 1n India?

(A) Wheat

(B) Rice

(C) O1l seeds

(D) Maize

9. In terms of value of agricultural production the most
important cash crop in India 1s:-

(A) Cotton

(B) O1l seeds

(C) Sugarcane

(D) Tobacco

10. In India petroleum o1l was first discovered 1n:-
(A) Surma valley
(B) Digboi
(C) Rudrasagar
(D) Nahorkatiya

1 1. Which state of India has the largest installation ot
wind power?

(A) Gujarat

(B) Maharashtra

(C) Karnataka

(D) Tamil Nadu
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12. Bhilai 1n the state of Chhattisgarh 1s famous for the
industry of:-

(A) Cotton textile

(B) Fertilizer

(C) Iron and steel

(D) Aluminium

13. Which one of the tollowing sea ports has natural
harbour?

(A) Chennai

(B) Visakhapatnam

(C) Haldia

(D) New Tuticorin

14. In terms of area and population the largest urban

agglomeration 1n India 1s:-
(A) Mumbai
(B) Delhi
(C) Kolkata
(D) Chennai

15. Which one of the following 1s not an administrative
division of West Bengal?

(A) Jalpaiguri

(B) Malda

(C) Kolkata

(D) Bardhaman

16. In West Bengal Rarh 1s a physiographic region part
which can be found 1n the district of:-

(A) Cooch Behar

(B) Nadia

(C) Paschim Medinipur

(D) South 24 parganas

1'7. Drought 1s occasionally experienced 1n the plateau
region of West Bengal because of:-

(A) Laterite soil

(B) Extremely low raintall

(C) Excessive evapo-transpiration

(D) Inefficient water management

18. Which one of the following 1s not mined 1n the
delta region of West Bengal?

(A) Natural gas

(B) Clay

(C) Sand

(D) Groundwater

19. Toto 1s a primitive tribal community tound in the
state of:-

(A) Arunachal Pradesh

(B) Odisha

(C) West Bengal

(D) Tamil Nadu

20. What was the primary objective ot construction of
the Farakka barrage
(A) Flood control in lower Bengal
(B) Augmentation ot water supply in the Hugh
river
(C) Generation of electricity for West Bengal
(D) Inland water transport in Bihar

21. Which district of West Bengal has achieved the
highest level of human development index 1n the state?
(A) Kolkata
(B) Purba Medinipur
(C) Bardhaman
(D) North 24 parganas

22. The summer monsoon normally arrives in the south
Bengal during:-

(A) 1 to S June

(B) 5 to 10 June

(C) 10 to 15 June

(D) 15 to 20 June

23. Shifting cultivation 1s not practiced in which one of
the following states?

(A) Assam

(B) West Bengal

(C) Odisha

(D) Andhra Pradesh

24. Damodar valley corporation (DVC) 1s:-

(A) A Central Government organisation of India

(B) A State Government organisation of West
Bengal

(C) A government organisation represented by
both the central and the state governments of
West Bengal and Jharkhand

(D) Organisation of the state governments of West
Bengal and Jharkhand

2018

1. The Dogras inhabit mainly:-
(A) From Southern pir panjal region to the Punjab
plains
(B) In Kashmir valley
(C) In Northern Kashmir plains
(D) In Poonch

2. The mountain range lying between India and
Myanmar 1s:-

(A) Lushai

(B) Namcha barwa

(C) Khasi

(D) Tura
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3. Rohilkhand region lies in:-
(A) Gujarat plains
(B) Western toothill plains of Aravali
(C) Northern Uttar Pradesh
(D) Bihar

4. The highest peak 1n the Andaman Island 1s:-
(A) Saddle peak
(B) Diabol peak
(C) Car Nicobar
(D) None of the above

5. In India karst landforms are formed 1n:-
(A) Jalpaiguri district, hills of Buxar and Jainti
(B) Pumea district of Bihar
(C) Jaisalmer region of Rajasthan
(D) Mysore hills in Karnataka

6. The highest peak 1in India K2 1s also known as:-
(A) Karakoram
(B) Kashmir
(C) Godwin Austin
(D) Kenneth

7. Chilika Lake 1s a:-
(A) Saltwater lake
(B) Freshwater lake
(C) Freshwater lake in the monsoon season
(D) Saltwater lake 1n summer season

8. Geomorphologists opine that change ot the course ot
the Kosi river resulted 1n:-
(A) Ganga river flowing mainly through the Padma
in Bangladesh
(B) Teesta river tlowing in North Bengal
(C) Kolkata tood declining

(D) Earthquakes 1in Gangtok and Darjeeling areas

9. 1s the only active volcano in India.
(A) Andaman Island
(B) Nicobar Island
(C) Barren Island
(D) Pamban Island

10. Apicco movement, associated with nature

conservation, was led by:-

(A) Sarala behan of Ahmedabad
(B) Mirabehn of Rajkot

(C) Pandu Rao Hegde of Sirsi

(D) Sundarlal Bahuguna of kausani

11. Which day celebrated every year on 5th December
by food and agriculture organisation of the United
nation’

(A) World soil day

(B) World health day

(C) World 1rrigation day

(D) World ant1 starvation day

12. Chhota Nagpur plateau 1s primarily composed of':-
(A) Sandstone limestone and shale
(B) Granite limestone and dolomite
(C) Archean rocks of granite and genesis etc
(D) Gondwana coal, sand stone and limestone

13. The headquarter of the eastern railway 1s located
at:-

(A) Ranchi

(B) Khadakpur

(C) Dispur

(D) Kolkata

14. Highest production and largest reserves of
manganese ore lie 1n the state of:-

(A) Bihar

(B) Odisha

(C) Karnataka

(D) Rajasthan

15. The importance of Ring road for New Delhi 1s:-
(A) It avoids 1s the main city crossings
(B) Heavy vehicles can avoid City centre
(C) Bothaand b
(D) None of the above

16. Importance of “dolphin’s nose” at Visakhapatnam is
as:-
(A) Tourist spot only
(B) Archaeological site
(C) Natural protection for harbour and
development of shipbuilding industry
(D) Ropeway used for transporting cargo at the
port.

17. Bongaon and Kolkata are connected by
National Highway.

(A) NH 35

(B) NH 02

(C) NH 06

(D) NH 32

18. In West Bengal raillway wagons are manutactured
at:

(A) Liluah, kanchrapara and dumdum

(B) Hindmotor, kanchrapara and Durgapur

(C) Chitranjan, hindmotor and Durgapur

(D) Kharagpur, chitranjan and dum dum

Educrat IAS, 4'" Floor, Manjari Building, 1, Camac Street, Kolkata — 16. Ph: 8910154148



%# EducratIAS

19. "Dry port’ of West Bengal 1s located at:-
(A) Kolkata
(B) Haldia
(C) Kolkata, Haldia and Digha
(D) Kolkata and Haldia

20. Murshidabad district 1s bisected 1into two halves
by:-

(A) Mahananda river

(B) Jalangi river

(C) Bhagirathi river

(D) Mathabhanga river

21. The largest arsenic decontamination/ purification
plant in West Bengal 1s located at:-

(A) Gangasagar

(B) Kolkata

(C) Asansol

(D) Farakka

22. Kolkata Mumbai National Highway via Agra 1s
known as:-

(A) NH 5

(B) NH 8

(C) NH 3

(D) NH6

23. The active delta of the Ganga in India lies here:-
(A) Nadia, North 24 parganas and Howrah
(B) Sundarbans
(C) North 24 parganas and south 24 parganas
(D) Medinipur (east) and Howrah

24. In India the second most populated district census
2011:-

(A) Howrah

(B) North 24 parganas

(C) Patna

(D) N.C.R.

2019

1. East Kolkata wetlands have been declared as:-

(B) Tourist site
(D) Ramsar site

(A) Biodiversity site
(C) World Heritage site

2. Bhur of Upper Ganga Plain of India 1s:-
(A) Undulating, acolian sandy deposit

(B) Older alluvium

(C) Newer alluvium

(D) Muddy areas

3. West Bengal Land Reform Act came into force in:-
(A) 1956 (B) 1958  (C) 1955 (D) 1959

4. Head Quarter of Central Inland Water Transport
Corporation of India 1s located 1n:-

(A) Allahabad (B) Kolkata

(C) Cochin (D) Mumbai

5. Metro rail was started 1in Kolkata 1n
(A) 1984 (B) 1986 (C) 1988 (D) 1989

6. About 80% of the coal reserves of India lie 1n the:-
(A) Damodar valley (B) Son valley
(C) Mahanadi valley (D) Godavari valley

7. The tull-tfledged state of Telengana came 1nto
existence on:-

(A) 1st June, 2013
(C) 1st June, 2015

(B) 1st June, 2014
(D) 1st June, 2016

8. Dhanekhali 1s famous for:-
(A) Tant industry
(C) Jute industry

(B) Paper industry
(D) Leather industry

9. Western part of Tista rirver 1s known as:-
(A) Terail (B) Duars (C) Tal (D) Diara

10. Sundarban 1s declared as 'World Heritage Site' for:-
(A) Tiger reserve (B) Sundari tree
(C) Mangrove forest (D) Biodiversity

11. Jalpaiguri town 1s located in the bank of-
(A) Tista and Karala river

(B) Tista and Jaldhaka river

(C) Jaldhaka and Raidhak river

(D) Tista and Raidhak river

12. Rammam hydroelectric power 1s located 1n:-
(A) Purulia (B) Bankura
(C) Jalpaigun (D) Darjeeling

13. Which of the tollowing pairs 1s incorrectly
matched?

(A) Bhitarkanika: Olive ridley turtles

(B) Dalma Hills : Wild elephants

(C) Kaziranga : One-horned rhinos

(D) Dachigam : Asiatic lions

14. First railway line was started in West Bengal
between:-

(A) Howrah to Hooghly (B) Howrah to Ranigunge
(C) Howrah to Burdwan (D) Sealdah to Naihati

15. The tropic of Cancer does not pass through:-
(A) Mizoram (B) Tripura
(C) Ori1ssa (D) Madhya Pradesh
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16. The Shola forest found 1n:-
(A) The Himalayas (B) The Western Ghats
(C) The Vindhyan (D) The Eastern Ghats

17. Kolleru lake 1s located between:-
(A) Godavar1 and Cauvery

(B) Godavari and Krishna

(C) Krishna and Cauvery

(D) Mahanadi1 and Godavari

13. What 1s Demographic Dividend?

(A) Increase 1n 0-5 year age group of population

(B) Increase 1n 6-15 year age group ot population
(C) Increase 1in 16-64 year age group of population
(D) Increase 1n over 65 year age group of population

19. Which of the following district was not in West
Bengal at the time of Independence of India?

(A) Coochbehar (B) Howrah

(C) Darjeeling (D) Murshidabad
20. Literacy rate of West Bengal 1s:-

(A) 82.67% (B) 74.04%

(C) 77.08% (D) 71.16%

21. Mention the name of the state which has larger

boundary with West Bengal among the following states
of India.
(A) Jharkhand (B) Bihar (C) Orissa (D) Assam

22. Lasksbadeep 1s a 1sland of:-
(A) Coral 1sland (B) Volcanic 1sland
(C) Tectonic 1sland (D) Alluvial 1sland

23. In India, which type of forest among the following
occupies the largest area’

(A) Tropical Wet evergreen

(B) Tropical Moist deciduous

(C) Montane Wet temperate

(D) Tropical Dry deciduous

24. Manasorovar lake lies 1n:
(A) Karakoram Range (B) Pirpanjal Range

(C) Kailas Range (D) Mahabharata Range
25. Shilong 1s situated 1n:-

(A) The Naga Hills (B) The Garo Hills

(C) The Khasi Hills (D) The Mikir Hills
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